EAGRAROBREERT — 2 N— ABISH —F

2020528160 (H) 20m{£E5H

AR hEEE C2 H¥5%4mE ‘ (xfg] £ ‘ [REmshE]  — |4 (@) 17500 R
[A&4£] 17 :400,000 @ ~ 2#&:120,000  ~ 3 #&:40,000H  43#&:24,000™” . 5 3&:16,000 @
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
w8 | REE—H 1:56.5 3-3-4-1 |39.1| — | 3 | 503 |tEBEF (EH)
i VPR 78] 5% s o | e Az
L:T7RRAYF -5 Bz NnFHA~ YY1 FHE
: e 7, 53 4 - RETE (£R)
9 ) — & — X 4 8 5?5.0 1(566)6 5-5-3-2 | 40.4 1 (5+213) :F#'g =
LYIRT4 TR BFT)—4— 75 Kikis
[iim}2 : -4-2- - TFIRE (EE)
3 A I—NLTRIL i o8 o 1.%.3 4-4-2-4 | 411 2 &2} SUzs i
R:AN—3I2FKR—L B:TAYS E A IVES
. S HEAE : —6-5- — TFILEF (EE)
4 YL oEY 1 — it 4 LS 1.(537).9 6-6-5-5 | 41.3 6 ;1_242) =
R:XHANZ N B:Hradzxy b Eiz/vie ]
s e . W& :57. -1-1- . — ABREK (EHB)
5 SELE BN 5 T 1(/53;)9 1-1-1-3 | 41.8 7 fzs) 288 =1
L:E¥r7AvY B:YFLTE2IVY R4S
EPTINN > 5 | IS 1:58.4 9-8-7-6 |41.2| — 5 423 | LFERE (EH)
615|5|FLTHNO- 7| s6.0 @ 1/2) © |8 EHEEEs
LB/ vT s BiFLTIATIR RS
L . AR :58. -10-10-7 | 40.9 | — BEE (18
70707175 rOy Y i 7 = 1 (528>8 8-10-10-7 | 40.9 10 zzg; e ®
R:2&2—-Ur70-2 B0y IN—HY KA
N i 7 | AR 1:59.7 7-7-8-8 | 42.7| — 4 491 | FBEEF (1EH)
8|78 NLIZ Y — 54.0 (5) (-6) B EE]
RN=YITA BRI bIF—F— R4S
N — = HZKFRA :00. -9-9- . — HERF (£8)
olglig 1 v=771 it 6 Hi 2(050)6 10-9-9-9 | 43.1 9 (428) e i
R:F—TTIVI>F BiAtovtU-—% KBS
N 8,0 REEC :01. —2-6- . — hEHE ((£E)
wolglg|vyymra i 5 i 2(051)6 2-2-6-10 | 44.9 8 (4_676) ety B
X T—hMVZXIT—h BITILTAUZR B BB
® 1 —F—@EBIERL
1T=7r= 3,9,4,6,1,2,8,7,5,10
2a=5F= 3,9,4,6,1,2,8,5,10,7
Ja=9= 3,6,1,4,2,9,5,8,10,7
43—+ — 4,1,3,6,2,5,7,8,10,9
[ N5
BB 4 570 | | 71 K 1-4 190 | | # & 1-4 380/ | | 3EfE 1-4-6 490/
B B 4 120M 4-6 280M B = 1-4 360M 3B 4-1-6 5,450/
1 1004 1-6 160M B H 4-1 1,260M
6 1209

ARICOVWTRDTEEERROODE. TR LI,




